THAEE BERMI)—t 53— IUREXF (EEEERLS1S) ORFEEORRICE T H1FH

1 BHITE—REZVOEBERURE

LIRBERIK | HWHREE FRAIRE |BXEZEY|IEIESE
() () ) (t) (t)
48 1.14 51.32 43.62 0 96.08
5H 0.94 38.36 9.28 0 48.58
68 23 40.02 46 3.82 50.74
78 0 27.24 6.29 0 33.53
8H 0 28.27 12.07 0 40.34
9A 1.15 17.45 6.32 0 24.92
108 0 4598 6.72 0 52.7
18 1.2 35.41 8.58 0 45.19
128 1.1 28.42 16.43 0 45.95
18 0.9 33.32 05 0 34.72
28 1.14 21.62 1.31 2477 48.84
38 1.53 31.36 3.33 150.69 186.91
&5t 11.40 398.77 119.05 179.28 708.5
2 MBEORER
48 58 67 78 88 98 108 118
e B ECTE 138 118 158 138 178 14H 1280 98
= RROEE ¢} ¢} ¢} ¢} @) ¢} ¢} [¢)
HEREDBIETIE TN EEx#EC-A - = = = = = = -
MNEROOLNIHEEDIEE BEONE - - - - - - - -
KT ECLE 130 118 158 138 178 148 128 9H
AROEE @) @) @) @) @) @) @) @)
EKMRDIETTEETL EEx#EC-A - = = = = = = -
MNEROOLNIHEEDIEE BEONE - - - - - - - -
G ECLE 130 118 158 138 178 148 128 9H
AROEE @) @) @) @) @) @) @) @)
ABMOBIRT BTN HEZE#EL-A - - = = = = = =
BHOoNI-IHEEDEE HEONE - - - - - - - -
BKESEDAD LG EEED ECTE 138 118 158 138 178 148 128 9H
ot AROHEE @ @ @) @) @) @) @) [®)
PREBEOKRICEENR  |{EEZ#ELCA - - = = = = = =
Hoh-iHEDIEE HEONE - - - - - - - - - -
BHKLESE ECTE 68 48 18 68 38 7H 5H 28 78 48
AROHEE @) @) @) @) @) @) @) @) @) @)
ECL 130 118 8H 138 108 148 128 9H 148 118
AROHEE @) @) @) @) @) @) @) @) @) @)
ECL 20H 18H 158 208 178 21H 198 16H 21H 18H
AROHEE @) @) @) @) @) @) @) @) @) @)
ECL 27H 25H 228 278 248 28H 268 2380 28H 58
AROHEE @) @) @) @) @) @) @) @)
AR - - 298 = 31H = = 30H = =
RROFER - - O - O - - O - -
BHKLEBREOMEICRE  |EEZHELER - - - - - - = = = =
KO BOHONIBEEDIEE HEONE - - — — — - - - - -
X TOIXEELGL X IFEEHY
3 BROEIRE
BEEAR WRIBT R E EYRRBE
BTHEURRLN 5 SF3E11A168 72,600 m 37,100 m




4 KEHRE

(1) fsR K
HBERIRLEAH _ 48138 | 58118 | 68158 | 78138 | 8F178 | 98148 | 108128 | 11898 | 128148 | 18118 | 28158 | 3H829A |
FtEEHE EX5 okl | REREE | RERRE | BERER | BTRE | BERE | RERR | BEREE | REEE | RERR | BERER | REREER | RERE
KFEAFVEE (ph) = 58~8.6 75 7.3 73 73 72 7.6 74 74 74 74 7.3 7.2
FHME=E (SS) mg/Q 60LLT 1 1R B3 1 B3 B3 1K 1K 1K 1K B 1K
EFHIBRERE (COD) mg/4 LT 0.9 1.3 1 1 0.8 1.0 0.9 15 1.4 1.2 14 17
EYILEHERRERE (BOD) mg/4 60LLF 0.7 1.1 9.9 1.3 0.8 055K 1 05K 0.5 0.9 0.9 1.0
Biema14> (Ce-) mg/Q - 240 200 220 200 200 180 160 140 170 180 180 160
KRR {&/cni 3000LLF 0 0 0 0 0 0 0 0 0 0 0 0
EXREH= mg/4 12060 F 95 11 5.6 7.8 13 4.8 5.8 5.5 5 74 7.1 7.6
BERE mg/Q 16LLF 0.07 0.04 - - 0.01k 5 - - - - = - 0.015K 5%
TILFILKER L&Y mg/4 BHINBNIE - - - - 0.00055 % = = = = = - -
KEBRUTNFIIKEEZ D DK mg/% 0.005LF - - - - 0.0005K i - - - - - - -
AIARUVZDIEEY mg/Q 0.03LLF = = - - 0.003K % = = = = = = =
SHRUZDIEED mg/Q 0.1LTF - - - - 0.0055 % - - - - - - -
ARBIEEY mg/4 1UF = = - - 0.1%K% - - - - - - =
N LIEEY mg/4 05UTF - - - - 0.02K % - - - - - - -
BERVZDILEY mg/4 0.1LLF = = = = 0.0055K 5 = = = = = = =
LT7ULEY mg/Q 1T - - - - 0.1Ki% - - - - - - -
REILETZZ )L (PCB) mg/4 0.003LLF = = = = 0.00055K % = = = = = = =
r)oooTFLY mg/2 0.1UTF - - - - 0.001 K% - - - - - - -
ThZy0AIFLY mg/% 01T = = = = 0.00053F ji# - - = = = = =
oHnoray mg/4 02T - - - - 0.002K i - - - - - - -
(R[S mg/4 0.02L4F = = = = 0.0002 i = = = = = = =
12->4/00T4y mg/4 0.04LLF - - - - 0.0004K i# - - - - - - -
1,1-900TFLY mg/2 1T = = - - 0.002% % = = = = = = =
YZ-12—-YyaaIFLy mg/2 04LLTF - - - - 0.004 K i - - - - - - -
t11-kyoaaTay me/2 3T - = = = 0.00055K i - - - - - - -
112-k)yRaTay mg/2 0.06 LA F - - - - 0.0006k i - - - - - - -
1.3->/nn7nRy me/2 0.02LLF - - - - 0.0002:K = = = = = = =
FISL mg/2 0.06L4F - - - - 0.0006:FK 7 - - - - - - -
DA me/2 0.03LLF - - - - 0.00035 iffi - - - - - - -
FAXLALT mg/Q 02T - - - - 0002k - - - - - - -
A me/2 0.1 - = = = 0.001K - - - - - = =
ELURUZDIEEY mg/2 01T - - - - 0.0025K i - - - - - -
14-OF %4> mg/2 05LLF - - - - 0.0055K - - - - - - -
F5FRUVZDILEY mg/Q 5051 F - - - - 1.8 - - - - - - -
SDRRVEDIEEN meg/2 15LLF = = = = 0.1 = = = - - - -
FUEZT TUE=TILED, .
ey 200LF - - - - 3 ) - -
JILRILAFHY E9i:: mg/2 5L - - - - 0.5k - - - - - = =
HEYESEE | DiEYHES mg/Q 30LLF - = = = 0.5K il - - - - - = =
Jrx/—)LiEEHE mg/Q 5LTF - - - - 0.01K % - - - - - - -
HeEf= mg/Q 3UT = = = = 0.01K# = = = = = = =
HIREHE mg/4 2LLTF - - - - 0.02 - - - - - -
BERMESBEEE mg/2 10LLF - = = = 0.055K % - - = = = = =
BBV ERE mg/Q 10T - - - - 0.01 - - - - - - -
JOLERE mg/2 2LTF - = = = 0.02K % - - = = = = =
FAX XU pg-TEQ/L 10 LT - - — — - - - - - 0.000084 - -

XEAT X RO T, TR4E K



(2) HFKCEF)

REEBLEZA 48130 | 585118 | 68158 | 78138 | 8176 | 98146 | 108128 | 11598 | 128148 | 1A118 | 2A158 | 38298
SHEEE BT HiEfE BREHRE | RERE | RERE | BREHE | #EHE | RERE | REHE | BEHR | RERE | RERKE | BEHE | #ERE

7 ILFILIKER (A—Hg) mg/L BHShENIE - - - - 0.0005% % = = = _ _ Z _
#8IKER (T—He) me/L 0.0005 LI F - - - - 0.00055K i - - - - - = -
hh394(Cd) mg/L 0.003LLF = - - - 0.0003FK % - - - - - - =
$n (Pb) mg/L 001 LT - - - - 0.001k% - - - - _ _ _
AEiZaL(Cre+) mg/L 0.05 UTF = = = - 0.005K % = = - - - - -
Bt (As) meg/L 001 LT - - - = 0001335 _ — — — _ _ _
2272 (CN) me/L BREEhENIE - - - - 0.1k - = = Z Z - =
RUEIEEZT=)L(PCB) mg/L RSN E - - - - 0.0005 i# - - - - - — —
koo FLy mg/L 001 LT = = = - 0.001K % = = - - - - -
FrSo/0ATFLY mg/L 001 LUF - - - - 0.0005K % - - - - - - _
onniey mg/L 002 LT = - - - 0,002k % - - - - - - =
mig{b kR mg/L 0.002 LLF - - - - 0.00025K 5 - - - - - _ _
12-o48RI48y mg/L 0.004 LIF = — — - 0.00043k i — — - - B - =
11->YnnIFLy mg/L 01 LIF - - B B 0.0025k i - - - - - - -
12->/a0TFLY me/L 004 AT = - - - 0.004k % - - - = - _ _
1.1,1-kJYooIsy mg/L 1T - - - - 0.00055K i - - - - - - -
112-k)yonxIsy mg/L 0.006 LT = - - - 0.00063k i - - - - - = =
1,3-yon7oxy mg/L 0.002 LIF - - - - 0.00025 i - - - - - - _
FI5L mg/L 0.006 AT = = = - 0.00065K % = = - - - - -
DA% mg/L 0.003 LAF - - - - 0.00035 i - - - - - - -
FANVALT me/L 002 LIF = = = - 0002k = = - - - - -
oty me/L 001 WUF - - - - 0.0013k - - - - - - -
L mg/L 001 LT - = = = 0.002:K i = = = = - - -
14-OF %4> mg/L 005 LT - - - - 0.0055% % - - - - - - -
1F5% mg/L 1T - - - - 0.02 - - - - - - Z
SD% mg/L 0.8 T = = = = 0.085K# = - - - - Z _
ZOATIFLY me/L 0002 AT - - - - 0.00025 % - - - _ Z _ _
BIVAUEEN) ) LiEEE mg/L 10LLF - - = = 2.4 - - = = Z Z _
B4y mg/L - 7 5 5 6 5

FAFF 5 pg-TEQ/L 1T = = = = = = = = = 0.089 = =

XEAFFIUEITDONTIE, 1 B4BEK




(3) WK (FF)

REBRBLEAH 4R130 | 5A11B | 6A160 | 7A138 | sHi/8 | 9A146 | 108126 | 11800 | 125148 | 1H11B8 | 2A15H | 3H298
HEER B HE(E REHE | REHE | REHE | REHE | RERE | REHRE | BERE | BERE | vERE | vERE | BERE | BERE
TILFEILIKER (A—Hg) mg/L BHEEhGLIE - - - - 0.0005% % - - - - - = =
#8IKER (T—He) me/L 0.0005 LI F - - - - 0.00055K i - - - - - = -
hh'394(Cd) mg/L 0.003LLF = - - - 0.0003%3% - - - - - - =
$n (Pb) mg/L 001 LT - - - - 0.001k% - - - - _ _ _
AEiZaL(Cre+) mg/L 0.05 UTF = = = - 0.005K % = = - - - - -
Bt (As) meg/L 001 LT - - - = 0001335 _ — — — _ _ _
2272 (CN) mg/L BRHEShANIE - - - - 0.1k - = = - - - -
REBIEEZz=)L(PCB) mg/L BHEINGLNCE - - - - 0.00053k i _ _ _ _ _ _ _
rJyooTIFLY mg/L 0.01 IR - = = = 0.001K i - = = = = = =
FrSo/0ATFLY mg/L 001 LUF - - - - 0.0005K % - - - - - - _
onniey mg/L 002 LT = - - - 0,002k % - - - - - - =
mig{b kR mg/L 0.002 LLF - - - - 0.00025K 5 - - - - - _ _
12-o48RI48y mg/L 0.004 LIF = — — - 0.00043k i — — - - B - =
11->YnnIFLy mg/L 01 LIF - - B B 0.0025k i - - - - - - -
12-o9/8RTFLYy mg/L 004 LIF = - - - 0.004% & - - - - B - =
1.1,1-k)YyoaoxTsy mg/L 1UF - - - - 0.00055K i - - - - - - -
112-k)yRaTaYy mg/L 0.006 LA = = = - 0.0006:K % = = - - - - -
1,3-yon7oxy mg/L 0.002 LIF - - - - 0.00025 i - - - - - - _
FI5L mg/L 0.006 AT = = = - 0.00065K % = = - - - - -
DA% mg/L 0003 LT - - - - 0.00035% % - - - - - - -
FANVALT mg/L 002 AT = - - - 0.002%K% - - - - - - =
oty mg/L 001 LI F - - - - 0.0013k % - - - - - - —
LY mg/L 001 LUF = = = - 0.002K % = = - - - - -
14-SAF 9> mg/L 0.05 LT - - - - 0.005% i - - - - - - -
EEMERE e e - - - - - - : - - -
1F5% mg/L 1T - - - - 0.10 - - - - - - Z
EES mg/L 0.8 LLF = = = = 0.085K i = = - = = Z _
/aoTFLy mg/L 0.002 LU F - - - - 0.0002:K i - - - - - - -
BIVAUEEN) ) LiEEE mg/L 10LLF - - = = 2.3 - - = = Z Z _
BEYAA> mg/L - 22 21 22 22 27 21 22 21 20 21 21 20
HAFFI 58 pg-TEQ/L 1LUTF = = = - - - = = = 0.022 — _

XEAFFIUEITDONTIE, 1 B4BEK




